Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

1304 |+ 227 |= 531 |

+ +
1490 |+ 394 |=| 884 |
794 [621
1221+ 393 |5 |
+ +
1385+ 242 = |
L]
M8+ 151 )=
+ +
268+ 137 =
L]
1392 [+ 517 |5 |
+ +
385+ 199 =
L]

1186 |+ 559 |=

+ +

1368 |+ 347 =

0

476 |+ 296 =

+ +

1303 |+ 382 =

7 [

116 [+ 212 |5

+ +

243 [+ 111 =

7 [

232+ 441 =

+ +

1585 [+ 291 =

7 [
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

1304 |+ 227 |= 531 |

+ +

1490 |+ 394 |= 884 |

1221 |+ 393 |= 614 |
+ +

1385 |+ 242 |= 627 |

118 |+ 151 |= 269 |
+ +
1268 |+ 137 |=| 405 |

1392 |+ 517 |= 909
+ +
1385 |+ 199 = 584

1186 |+ 559 |=| 745 |
+ +
1368 |+ 347 |=| 715 |

476 |+ 296 |= 772
+ +
1303 + 382 = 685

1116 |+ 212 |= 328 |
+ +
1243 [+ 111 |= 354 |

1232 |+ 441 |= 673 |
+ +
585 |+ 291 = 876
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